20208 &= 3xt

=R H A & H A=3d  &A
=
SES P FZ0 N s SE2ZA
= g M=
IARPE XA ¢

JEARPE X & ALY 90,480,000 90,480,000
14,500x 520A12kx 128= 90,480,000

A 90,480,000 90,480,000

g 90,480,000 90,480,000

2= 90,480,000 90,480,000
HEEQ 20,936,880 20,936,880 20198 oIS SAMHIA Al 20,936,880

HEEQ 20,936,880 20,936,880

JEEe 20,936,880 20,936,880

A= 20,936,880 20,936,880
BHEFAR G 50,000
EAMHE 80,000
LIZ20IAFS & 50,000
AHE H AR E 50,000

JIEHHIS Ol Kk == 719,189 719,319
SES 0lX=+g 9,189
HEH2EH] Ol K=& 60,130
AEAISE 50,000
JIEHE AP & 50,000
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10,000
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AR 223 0 6,000,000
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- HAAMNGE HE2 202,300,000
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- HAANE S RILXIA 700,000
— HARAFRH T RILIEXIA 660,000
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d=g ane dE 3,600,000 4,590,000 990,000 | Kt AR Sa4g 510,000 x 92 =4,500,000
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22349 1,440,000 1,440,000 0
RESISE] 0 0 0
AN2REX3 0 0 0
F2LHY Y2 2,640,000 3,640,000 1,000,000 3,640,000
NESRel Rl =] 9, 100,000 9,100,000 0| 8tAIFQIAHl XI& 700,000x 13&= 9,100,000
IEIEx2 11,740,000 12,740,000 1,000,000
11,740,000 12,740,000 1,000,000
2x3+Y 11,740,000 12,740,000 1,000,000
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QLASS AL Q1A 81,889,000
10,880X 520Al12+X 12&= 67,891,200
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Jl2E3F 3,712,000 2,330,000 -1,382,000
Jl22d| 130,000
223 3,712,000 2,330,000 -1,382,000
e 3,712,000 2,330,000 -1,382,000
. 18262
4,021,000X 102+ 4,061,000X 2&= 48,332,000
. 2ga12s
3,091,000X 73+ 3,131,000X 5&= 37,292,000
. 42 63 2,124,000X12&= 25,488,000
. 55 6=
2,042,000X 102+ 2,119,000 1&= 22,539,000
Jl=g 223,089,000 223,089,000 05. 5= 48 41,690,000
1,895,000X 12&X 1= 22,740,000
1,895,000X 10&X 1= 18,950,000
. 558 3
1,854,000X 8&+ 1,895,000 4&= 22,412,000
.52 18
1,802,000X 72+ 1,826,000 3&= 18,092,000
. F=ore™ 1,810,900 2&X 2%= 7,243,600
223,089,000 223,089,000 0
223,089,000 223,089,000 0
JIEt2E 14,000,000 18,860,000 4,860,000 | 1. dIE H= 17,760,000
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3% 650,000 12&= 7,800,000
14,000,000 18,860,000 4,860,000 o= 122i= 9,960,000
2. J|Et2 g 1,100,000

JIEr2 | 14,000,000 18,860,000 4,860,000

=9 14,000,000 18,860,000 4,860,000
ERE 2,410,000 2,410,000 0|=xzoe 2,410,000

JIEHS A 2| 2,410,000 2,410,000 0

ol 2,410,000 2,410,000 0

248,481,000 250,699,000 2,218,000
1. SHAISELD] 4,250

Lol AL 1,227,050 1,227,050 0
2. AIBIE2EEH 1,222,800

Col= = AL 1,227,050 1,227,050 0
gEsngsszdl 1,000,000 1,000,000 0|1, 2z 1,000,000

JOISA0IAE 1,000,000 1,000,000 0
- FAAIHC 63,630,000
- AL 100,000,000
- ASAFHC 26,800,000
- XEAIEES 22,566,385

851,058,981 839,923,981 ~11,135,000
- B AL E 8,316,855
- 2HIE AR 163,806
- ASEAALY 5,118,006
- LIISAI 2,185,315
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- HHNE 0183 18,700,669
- BHEAIYE O3 36,932,559
- goingE 0183 15,106,258
- HEAAMSE =S 820,000
- JlBNE 0123 3,300,000
- HARAIREE OHES 5,200,000
- daAE IHES 5,000,000
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- EE3N0IARE 0123 43,630,000
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A 853,286,031 842, 151,031 ~11,135,000
- USOINRE OIk4e ph 50,000
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083 109,683,204 136, 178,324 26,495,120
- UM Ol Xt BHe 40,000
- HAAISE Ol Tt BHE 50,000
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2 = s e
obIbl % JIEk 109,683,204 136, 178,324 26,495, 120
Qe = Il 109,683,204 136, 178,324 26,495,120
=x4+g 0 0 0
= 0 0 0
o121t 0 0 0
A 0 0 0
LIZ0IAFE E RILIEXIA 2,880,000
MURARE SIIFTI A 530,000
A AREE 2ILAIA 2,690,000
T ANLE SIPITIA 90,000
SHEtHE AR S SIPHR Al 5,000,000
BEALE BRI 500,000
SIIIIXI M L= 63,633,645 62,573,645 ~1,060,000
NZEHIARIEH SI1HXI A 40,000
HAAEE RIILXIAI 16,370,000
- 20198 4=20| RItAl 9,763,645
HANSE SIDITA 20,000,000
IIBAE 2IDITI 30,000
EEHAHAISEE RIILXIA 4,370,000
63,633,645 62,573,645 ~1,060,000
WAL 1,320,000
NETY 27,060,000 29,304,000 2,244,000 2. etz s 840,000
s8HUrLE 90,000
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=523 960,000
. HAZDE 1,830,000

At 27,060,000 29,304,000 2,244,000
x| 2,100,000
. JIEr24Y| 21,294,000

UgmeAeE 57,060,000 29,304,000 2,244,000
WA 550,000
A2 SIALSY 350,000
OBl (RE3HS) 360,000
At 11,770,000 12,706,000 936,000 |4. 28H2442 840,000
HAZDE 1,356,000
T 1,500,000
. JIEF2 49| 7,750,000

A S ARRIEFALYS

& 11,770,000 12,706,000 936,000
WA 1,100,000
AU SIALSY 700,000
sBblLLs2 480,000
At 65,425,000 64,515,000 ~910,000|4. Zza2 4,800,000
B ERE 1,165,000
. Jlerea) 29,496,312
PSR=oNIeiPalsll 26,773,688

Of OF AFQI B AFES

M 65,425,000 64,515,000 ~910,000

At 13,710,000 13,227,000 ~483,000 | 1. DA 550,000
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AU SIALSY 350,000
OH(wSIHE) 360,000
23 960,000
13,710,000 13,227,000 ~483,000 5. 2222 3,300,000
HAIS22 422,000
=il 1,500,000
. JIEt2g] 5,785,000

e aeE 13,710,000 13,227,000 ~483,000
mE=>Sk- Tl 1,800,000
o 2H2ABIALY 0
=8HIY =25 1,550,000
57,910,000 56,376,000 1,534,000 |4 =522 1,500,000
. HAS3 2,410,000
. JIEt2 gl 9,983,750
. dgolE olAy| 39,132,250

JOISA0IAS 57,910,000 56,376,000 ~1,534,000
mE=>Sk-= Tl 1,320,000
HAFASIALS 840,000
+2HY 2 1,920,000

33,920,000 34,559,000 639,000
523 1,200,000
N EnE! 3,770,000
=il 7,200,000
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AR 33,920,000 34,559,000 630,000 7. JIEr2 M 18,309,000
SIS EA 33,920,000 34,559,000 639,000
1. WSS 550,000
2. LAY 350,000
3. oyl 720,000
ArRIH| 8,200,000 8,016,000 ~184,000
4, £BHIY 222 480,000
5. KMAZ2 184,000
6. JlEF2ZHI 5,732,000
g HArEEA 8,200,000 8,016,000 ~184,000
1. DAY 2,750,000
2. ASUJIAY 1,750,000
3. =8Hl¥rr2 5,060,000
ArRH 36,100,000 34,016,000 ~2,084,000 | 4. WAHZI2 2,489,000
5. Xh2fH| 1,500,000
6. JIEtEZHI 3,656,110
7. Mgols olAH| 16,810,890
A A EHALY
5 36,100,000 34,016,000 ~2,084,000
1. WFXHH| 660,000
2. AEUJIAY 540,000
Attt 46,370,000 48,270,000 1,900,000(3. 2882 442 360,000
4. BEL3 500,000
5. MAZ2 584,000
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. JIEt=2EH| 14,439,430

T 46,370,000 48,270,000 1,900,000
sgee o2l 31,186,570

sansgen 46,370,000 48,270,000 1,900,000
WX 560,000
ASLSAY 480,000
+8HI2 248 240,000

NETY 15,850,000 14,480,000 ~1,370,000
3323 880,000
. HAIZD3 897,000
. JIEt2EH| 11,423,000

geseste 15,850,000 14,480,000 ~1,370,000
WA 770,000
AL ALY 490,000
+=ZH Y2 480,000

Arit 13,200,000 11,751,000 ~1,449,000
52 500,000
R VERE 392,000
JIEH2 I 9,119,000
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WA 660,000
LAY 420,000
Arit] 19,900,000 17,465,000 2,435,000 3. 018I(253/E) 360,000
+=ZH Y2 960,000
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1. AIRES 150,000 12JH&= 1,800,000
PRPS=E 100,000 129H2i= 1,200,000
AgH L 4222 15,800,000 13,800,000 2,000,000 |3. AL22IIDI BlE 176,000 12JhE= 2,112,000
4. SIIEFH)| e 120,000X 12J0&= 1,440,000
5. HadlAS 30,000 49HE= 120,000
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A8l 2 242 15,800,000 13,800,000 2,000,000 |21, 2EHRAsE 377,680
A2H L A
B % == 15,800,000 13,800,000 ~2.,000,000
2oy 15,800,000 13,800,000 ~2.,000,000
44,856,000 39,855,640 ~5.000,360
. HIIZ2A 2,360,000
. THHZAH 300,000
Al EH S X ] 6,500,000 5.911,760 588,240
ANEARESIHI 2,860,000
. AU ES 391,760
AlEZH ST 6,500,000 5,911,760 588,240
Al B 6,500,000 5.911.760 588,240
6,500,000 5.911.760 588,240
MAKIBAIY ME| HED
ANESHEED 6,000,000 6,000,000 0
1,500,000x 43|= 6,000,000
gﬁilﬁl&%A} 6,000,000 6,000,000 0
AL 6,000,000 6,000,000 0
6,000,000 6.000,000 0
. B0 280,000
oIt 3,180,000 400,000 ~2.780,000
L WSIIE =H 30,000x 43l= 120,000
o1t 3,180,000 400,000 ~2.,780,000
2oy 3,180,000 400,000 ~2,780,000
3,180,000 400,000 2,780,000
ol bl 9,634,000 5,634,000 4,000,000 | 1. JFAFFETIRARS oHIH] 5,634,000
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2. NBIEEEZ 10,827,870
i[é;gﬂ%*A*ngf 199,600,000 193,046,000 ~6,554,000
1. EOIT Q12| 68,713,830
01218 74,100,000 73,038,000 ~1,062,000
2. NIgIEBE 2 4 324 170
ASARTHALY
& 74,100,000 73,038,000 ~1,062,000
1. &0 212l 169,792,870
01218 181,400,000 180,286,000 1,114,000
2. AIg|IBE 2 10,493,130
o O AP EFAF O
& 181,400,000 180,286,000 1,114,000
1. &0 Q12| 89,105,750
01218 91,900,000 94,658,000 2,758,000
2. AIg|IEBE& 5,552,250
fﬁégaﬂo*A*ngf 91,900,000 94,658,000 2,758,000
0I121H| 117,100,000 69,956,000 47 144,000 | 1. 0K Q124H| 69,956,000
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JOISA0INE 117,100,000 69,956,000 ~47, 144,000
1. EOX 12| 183,147,890

01218 198,100,000 191,217,000 -6,883,000
2. AIgIB& 2 8,069,110

gﬁm”g‘:—*“ 198,100,000 191,217,000 ~6,883,000
1. EOA 21| 41,336,830

0121y 53,900,000 44,243,000 ~9.657,000
2. AIg|IBE & 2,906,120

éﬁ];{“'“gg“ 53,900,000 44,243,000 ~9,657,000
1. 20X elAd] 426,104,160

01218 458,400,000 451,789,000 6,611,000
2. AIg|IBE & 25,684,840

’E—ﬁﬁ“@ SHARE 458,400,000 451,789,000 6,611,000
1. EOA 12| 96,022,550

01218 105,000,000 102,487,000 2,513,000
2. AIgIE2E& 6,464,450

SansEeM 105,000,000 102,487,000 ~2,513,000
1. 20X elAd] 122,191,750

0I124H| 132,700,000 129,608,000 ~3,092,000
2. AIg|I2E& 7,416,250

gﬁﬁ“g SAE 132,700,000 129,608,000 ~3,092,000
1. 20X e1Ad] 100,828,430

0I124H| 102,200,000 107,330,000 5,130,000
2. Nlg|lEE2 6,501,570

JSNEEME 102,200,000 107,330,000 5, 130,000
1. 20X 21| 84,647,670

0I121H| 95,800,000 89,825,000 -5,975,000
2. AIg|lE2E& 5,177,330

g;ﬁl”“%@” 95,800,000 89,825,000 -5,975,000
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1. 20X 21| 140,799, 240

o121y 159,300,000 148,479,000 ~10,821,000
2. AIg|lB&8 2 7,679,760

H [e3] [e3]

Gﬁﬁz“ﬂg”ﬂ 159,300,000 148,479,000 -10,821,000

=T 1,969,500,000 1,875,962,000 ~93,538,000

T 1,969.500,000 1,875,962,000 ~93,538,000
THALE S| 10,733,000 9,015,000 1,718,000 | KHakz=HI 9,015,000

THAE S b 10,733,000 9.015,000 1,718,000

A& B 10,733,000 9,015,000 ~1,718,000

A=A 10,733,000 9,015,000 ~1,718,000
1. Q24| 31,848,000
- 20 2,212,000 12€= 26,544,000

THAbE! A K| 2 AN 35, 136,000 35, 136,000 0
- E|ANE Y AISIEEE  442,000X 12&= 5,304,000
2. Z2aad| 274,000X 12&€= 3,288,000

AT

ggﬁoéx'd” 35, 136,000 35, 136,000 0
1. STSAS 4,000,000
PVYESY 500,000
- HESR 1,500,000X 23l= 3,000,000
- A3 500,000

THEH K| ALY 16,480,000 22,095,000 5,615,000
2. & SdlLksoE 1,300,000
3. NEXISAFS 16,795,000
- ZH0|Xl JHH 6,000,000
- Cl 2t W X &Y 500,000
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- DZLHY9 YR=S 6,215,000

NESEI 16,480,000 22,095,000 5,615,000
- RN A 4,080,000

RHE X2 AF ] 16,480,000 22,095,000 5,615,000
ST X-ME 282 270,000 540,000 270,000 | HEAIR ZTAE(FE) 60,000 x 98 = 540,000
NESN-SH4Y 3,330,000 4,050,000 720,000 | N AR ST4E 450,000 x 98 =4,050,000

S & KIEAIS

NESEME 3,600,000 4,590,000 990,000

55,216,000 61,821,000 6,605,000

55,216,000 61,821,000 6,605,000
1. SEEE (3N, %Y 5) 300,000
2. 3 MRS EEE 60,000X 4Z= 240,000
3. A¥ o2 10,000 8= 80,000
4. e XE2l| 450,000X 128= 5,400,000

A2 7,665,000 6,667,540 997,460
5. AXHE 30,000X 12&= 360,000
6. HoIFS=FOA 65,000
7. ASWAE S 50,000
8. JIEt MASH2S 172,540

LR 7,665,000 6,667,540 997,460

= 7,665,000 6,667,540 997,460
1. JtE==E 680,000
2. SEFIH 19,063,800

R4 66,944,000 66,944,000 0
3. At 9,014,250
4. Ze|kt==E 200,000X 1¥X 12&= 2,400,000
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5. ZHZAH| 9,100,000
100,000X 5&X 12&= 6,000,000
100,000X 1&€X 11&= 1,100,000

H=< 66,944,000 66,944,000 0
100,000X 28X 10&= 2,000,000
6. &Y 23,703,000
7. AX=E 2,982,730

M= 66,944,000 66,944,000 0

66,944,000 66,944,000 0

74,609,000 73,611,540 ~997 460
1. A WS 1,260,000
- WSl 100,000X 8Y= 800,000
- B10SH| 20,000X 8Y%= 160,000
- AYARAELF 100,000X 33|= 300,000
2. B39 1,170,000
- 2J| 8ot 20,000X 139X 33|= 780,000
NAAS2USALS 11,372,000 6,051,060 -5,320,940 |- A= AtSEII3| 9 30,000 13%= 390,000
3. JIEtsl 2 780,000
- 2239 30,000 5% X 23|= 300,000
- 839 30,000X 8FX 23|= 480,000
4. NHEHE RS 390,000
- 2ARHIAS 30,000X 5¥X 13l= 150,000
- 8135 30,000X 8YX 13]= 240,000
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2,300,000
X922 AN 372,000 6,051,060 -5,320,940
6. LIES A 151,060
S X2 AR 372,000 6,051,060 -5,320,940
372,000 6,051,060 -5,320,940
372,000 6,051,060 -5,320,940
gxz ¥ NNy 25,406,000 25,406,000 N EEEEHEEERE 25,406,000
R 25,406,000 25,406,000 0
oIt 25,406,000 25,406,000 0
25,406,000 25,406,000 0
BHAI R 01 24H| X & 100,000 9,100,000 O|BAIOIAHIKIRAR  700,000X 138= 9,100,000
8K 2 AR 100,000 9,100,000 0
100,000 9,100,000 0
A 1100,000 9,100,000 0
84,000X 43l= 336,000
L] 236,000 808,000 ~428,000 40,000X1051= 400,000
72,000
3/l 236,000 808,000 ~428,000
SEEL 236,000 808,000 ~428,000
236,000 808,000 ~428,000
K& H 3,983,939,880|  3,886,530,000 ~97,409,880
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